RDFEngine> pro41

Reading file "D:\RDFEng\RPro1.hs":

RDFProlog version 2.0

Reading files ...

Enter command (? for help):

RDFProlog version 2.0

Reading files ...

Enter command (? for help):

s

step:

goal:

grootmoeder(_1?X,_1?Y)./10

goallist:

grootmoeder(_1?X,_1?Y)./10

subst:

[]

pdata:

s

step:

goal:

grootouder(1$_$_2?Z,1$_$_2?X)./2

goallist:

grootouder(1$_$_2?Z,1$_$_2?X)./2

sexe(1$_$_2?Z,vrouwelijk)./2

subst:

[(_1?X,1$_$_2?Z)(_1?Y,1$_$_2?X)]

pdata:

(grootouder(1$_$_2?Z,1$_$_2?X),sexe(1$_$_2?Z,vrouwelijk) :> grootmoeder(1$_$_2?Z,1$_$_2?X)./2,grootmoeder(_1?X,_1?Y)./10)

s

step:

goal:

ouder(2$_$_1?Y,2$_$_1?X)./2

goallist:

ouder(2$_$_1?Y,2$_$_1?X)./2

ouder(2$_$_1?Z,2$_$_1?Y)./2

sexe(1$_$_2?Z,vrouwelijk)./2

subst:

[(_1?X,1$_$_2?Z)(_1?Y,1$_$_2?X)(1$_$_2?Z,2$_$_1?Z)(1$_$_2?X,2$_$_1?X)]

pdata:

(ouder(2$_$_1?Y,2$_$_1?X),ouder(2$_$_1?Z,2$_$_1?Y) :> grootouder(2$_$_1?Z,2$_$_1?X)./2,grootouder(1$_$_2?Z,1$_$_2?X)./2)

(grootouder(1$_$_2?Z,1$_$_2?X),sexe(1$_$_2?Z,vrouwelijk) :> grootmoeder(1$_$_2?Z,1$_$_2?X)./2,grootmoeder(_1?X,_1?Y)./10)

s

step:

goal:

ouder(2$_$_1?Z,2$_$_1?Y)./2

goallist:

ouder(2$_$_1?Z,2$_$_1?Y)./2

sexe(1$_$_2?Z,vrouwelijk)./2

subst:

[(_1?X,1$_$_2?Z)(_1?Y,1$_$_2?X)(1$_$_2?Z,2$_$_1?Z)(1$_$_2?X,2$_$_1?X)(2$_$_1?Y,christine)(2$_$_1?X,wim)]

pdata:

(ouder(christine,wim)./2,ouder(2$_$_1?Y,2$_$_1?X)./2)

(ouder(2$_$_1?Y,2$_$_1?X),ouder(2$_$_1?Z,2$_$_1?Y) :> grootouder(2$_$_1?Z,2$_$_1?X)./2,grootouder(1$_$_2?Z,1$_$_2?X)./2)

(grootouder(1$_$_2?Z,1$_$_2?X),sexe(1$_$_2?Z,vrouwelijk) :> grootmoeder(1$_$_2?Z,1$_$_2?X)./2,grootmoeder(_1?X,_1?Y)./10)

s

step:

goal:

sexe(1$_$_2?Z,vrouwelijk)./2

goallist:

sexe(1$_$_2?Z,vrouwelijk)./2

subst:

[(_1?X,1$_$_2?Z)(_1?Y,1$_$_2?X)(1$_$_2?Z,2$_$_1?Z)(1$_$_2?X,2$_$_1?X)(2$_$_1?Y,christine)(2$_$_1?X,wim)(2$_$_1?Z,elza)]

pdata:

(ouder(elza,christine)./2,ouder(2$_$_1?Z,christine)./2)

(ouder(christine,wim)./2,ouder(2$_$_1?Y,2$_$_1?X)./2)

(ouder(2$_$_1?Y,2$_$_1?X),ouder(2$_$_1?Z,2$_$_1?Y) :> grootouder(2$_$_1?Z,2$_$_1?X)./2,grootouder(1$_$_2?Z,1$_$_2?X)./2)

(grootouder(1$_$_2?Z,1$_$_2?X),sexe(1$_$_2?Z,vrouwelijk) :> grootmoeder(1$_$_2?Z,1$_$_2?X)./2,grootmoeder(_1?X,_1?Y)./10)

***Solutions:***

Solution:

Substitution:

[(_1?X,1$_$_2?Z)(_1?Y,1$_$_2?X)(1$_$_2?Z,2$_$_1?Z)(1$_$_2?X,2$_$_1?X)(2$_$_1?Y,christine)(2$_$_1?X,wim)(2$_$_1?Z,elza)]

Closure:

(ouder(elza,christine)./2,ouder(elza,christine)./2)

(ouder(christine,wim)./2,ouder(christine,wim)./2)

(ouder(christine,wim),ouder(elza,christine) :> grootouder(elza,wim)./2,grootoude

r(elza,wim)./2)

(grootouder(elza,wim),sexe(elza,vrouwelijk) :> grootmoeder(elza,wim)./2,grootmoe

der(elza,wim)./10)

***End solutions***  

